Quiz 3A, Calculus I - No Calculators

Dr. Graham-Squire, Spring 2014
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1. (4 points) Use implicit differentiation to find 3.

,. o
(s )y

o (-S@g Y = x?\/?-f Zyé’)

B T Y
o |
eyt A
i G - 57 oy 2y
Lf the/"‘,khwr’
a2 )
Sec ) faec B - o y «élly t1eg" Jy .

Y A'pl' 1‘6 by

o
T
g’i Cec 3
R ( "'T;E 31-1'4’271{}
TS‘%Z)&E )(_), \/lw wa . Sec _ 7,2 1‘—873 \/}
\.{q' Mwﬁ/’/‘




s
el ;;L\{-;f.‘f?

T}:‘-‘f‘ il \/
e} \ . . T " ¢ e ra
’ 2. (3 points) Find f'(z) if f(z) = 4/cot (Zm) = ( Cof (TET_:{. 5) : -
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3. {3 points) Find the equation of the tangent line at z = ~1 if f(z) == arctan(z?).
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Quiz 3B, Calculus I - No Calculators

Dr. Graham-Squire, Spring 2014
Name: %‘7

1. {3 points) Tind the equation of the tangent line at z = —1 if f(x) = arctan(z
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2. (4 points) Use implicit differentiation to find y'.
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3. (3 points) Find f'(z} if f(z) = 4/tan (ET) You don™t have to simphify your answer.
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